Let op: beantwoord een open vraag altijd in het Nederlands, behalve als het
anders is aangegeven. Als je in het Engels antwoordt, levert dat 0 punten op.

Tekst 1 Elon Musk

1p 1 Which of the following fits the gap in this text?

A

B
Cc
D

juvenile prank
minor matter

strategic error
true statement

Tekst 2 What about us, police blast

1p 2 What becomes clear in this article?
The police say they are

A

B
Cc
D

entitled to substantially higher wages.
ready to improve their success rate.
understaffed and underfunded.
unwilling to tackle terrorism.

1p 3  Which of the following fits the gap in paragraph 4?

A

B
Cc
D
E

economic difficulties
international competition
political opposition
privacy issues

threat level

Tekst 3 Old drivers on the move

1p 4 What is the point made by Professor Philip Graham (first letter)?

A

B
Cc
D
E

Being allowed to drive is a fundamental right for any adult.

Elderly drivers can drive as long as they are monitored regularly.
Most senior citizens’ driving skills remain constant over the years.
There is no clear correlation between age and unsafe driving habits.
Traffic regulations that take old drivers off the roads are overdue.

1p 5 Which of the following fits the gap in the second letter?

A

B
C
D

HA-1002-a-24-1-0

a substantial reduction in experienced motorists on our motorways

a surge of new taxi companies set up to transport the elderly

a swell of mobility scooters crowding the streets and pavements

an increase in road rage incidents triggered by inexperienced driving
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